


3- s ﬁ!’/ﬂ’l@fﬁé’, %:m ﬁd?l_s’

v(4)= Fﬂi’dﬂdg’fé
ylt)= j il

#o%‘ T

N H)= st
/ t 1\ $e0 \71%)#-5&-('
1¢ ) l-()

l 0
o l

:
(v}
T2
"r-ID
3’,@

[ O

radis 5 vl = Seost
= {x;y%(y ({') = Fm '{'

(’5}0)

t=0 (X 'Y S =eost, S5t

A

way7  Xl)= 3+ Seost

od
cwele vadis 5, teuder (3, r) {cﬁﬂ’ﬁg

> Lyr= <317+ <ot Sty

J—_—
~7 x = 37525
jz [+ Szt



1=1
s (¢,13)
G2 x(p)
y(*)

wmd: x(0)=] , 4y(OZ]
w()=¢ jf't) =15
”M x(¢)z 1+5+

jl-l')-r.: 1+12 ©
\/?c'y)i——{\ l)"f"E(gﬂlg (Hr,t)-—"? 61{3)
BP &= P i,
=/ ¥z | + 5t Wzt <9f1—k';fy7_y,)

z|+12
.7 ‘ +* FP):: <6__.|I13-I>




@ paX 4‘@'W W?r_/fi;i i; I{'i—%'f:'-’{:f?
2o

ot t=-b o

Fx(f;; z2d3 € Vi
j(‘(')r-'- ﬁ""% */éfl ’
fr=25 )

= 2 2
203 =7 o —yg+22t—lT
. 78+2( %0 )-(6(25)°

2 lmware =it O Al
el > (f)"’
o 7







(10,
r & = 6
rectorgeta
. (s
—2X
F(;T:T) }fﬁ-/a:-\
Sng
;ec(e‘z_kp) % (52)
P(”('SJ;T)
(5 /aT)
G,°)
:rﬁw (=2 )
find M f,l..rmvméz ' i
I:}o(v (282, Zg) S

('1&: 'Jg) l :
(?ﬁ 5-‘_!1' ) (2& 211' + 2k
/ (..zJ'z, ."z"; +2Tk
kEL




